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Pre-Calculus AB

Worksheet 17 - Lesson 49 & 50
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Identify the domain and range of each.  Then sketch the graph.

1)  f (x) = log
3

(x - 1)
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2)  f (x) = log (x + 3) - 3
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Solve each equation.

3)  log
7

(x + 2) - log
7

(x + 5) = 2 4)  log
3

(2x2 + 9) + log
3

2 = 3

5)  ln (x + 3) - ln (x - 1) = 5 6)  log
4

3 - log
4

(3x + 2) = 1
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Condense each expression to a single logarithm.

7)  2 log
5
x + 2 log

5
z - 10 log

5
y 8)  log

3
c + 4 log

3
a + 5 log

3
b

Solve each equation for 0 £ q  < 2p .

9)  4sec q  = 4 2 10)  0 = 4sin q

11)  -4 + tan q  = 
-12 - 3

3
12)  -

1

2
 × cos q  = 

2

2

13)  -2 + sin q  = -1
14)  -

1

5
 × cot q  = 

1

5
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Answers to Worksheet 17 - Lesson 49 & 50

1)  

x

y

-8 -6 -4 -2 2 4 6 8
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8 Domain: x > 1
Range: All reals

2)  

x

y
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-8
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8 Domain: x > -3
Range: All reals

3)  No solution.
4)  {3

2
, -

3

2} 5)  {-3 - e5

1 - e5 } 6)  {- 5

12}
7)  log

5

z2x2

y10

8)  log
3

(cb5a4)
9)  {p

4
, 

7p

4 } 10)  {0, p}

11)  {5p

6
, 

11p

6 } 12)  No solution.
13)  {p

2 } 14)  {3p

4
, 

7p

4 }


